R6.1.29MF =

TWREZERXBFOTHMNBIEER T —&ER (A7)
XEIEEH
THR SHERNHORRE WT~Y =
mETA | B X EWXE Tl Tl
2> BHER 2> BHFR 2> BHFA 2> BHFH
ER X ER X ER X ER X
BT 95 69 158 150 9 0 262 219
ELEAT 37 19 71 67 0 0 108 86
#E™H 169 122 264 263 1 0 434 385
T 182 133 257 255 19 0 458 388
XA 236 179 598 586 19 0 853 765
FE T 73 47 61 61 0 0 134 108
B L F AT 50 32 82 82 1 0 133 114
B|osi] 183 136 238 229 3 0 424 365
£ 55 38 89 85 0 0 144 123
mHWRH 124 75 110 107 5 0 239 182
LEHET 178 140 550 535 23 0 751 675
B N 173 128 450 442 2 0 625 570
] 18 14 16 16 0 0 34 30
)| = 8T 104 81 187 184 108 0 399 265
B )I|ET 37 33 121 114 11 0 169 147
5 JERT 318 201 469 460 144 0 931 661
FARBAT 111 87 138 137 53 0 302 224
=)l 55 36 115 113 33 0 203 149
ABF0ET 0 0 0 0 0 0 0 0
EER 111 101 292 288 0 0 403 389
FEEAT 17 10 14 13 0 0 31 23
DEH 28 15 16 16 0 0 44 31
L BT 48 37 103 92 0 0 151 129
N8 R &S 22 18 22 19 0 0 44 37
& 5 AT 78 59 174 171 0 0 252 230
INEAY 24 17 72 72 8 0 104 89
FHER LA 6 5 47 46 0 0 53 51
&5t 2532 1,832 4714 4603 439 0 7,685 6,435
KTETNZEHBE VTV XEE, MAEMICEFELTWS=H, THHREROEERKR]
DEEFHEVEL B> TVET
R6.1.29FF =
I B R DIEERR (77
THR SHENHORRE WT~Y =
ERE T IR [ ER X EWXE EWXE Tl
> BHFA > BHFR 2> BRI 2> BHFH
ER X ER X ER X ER X
IR 2,522 1,826 4712 4601 438 0 7,672 6,427




